Part #

850-001
850-002
850-003

Part #

850-004
850-005
860-006

— n

1/4" SS Tube

thru

I 15

3.50

1" Bolt With Male VCR Fittings
both sides
Part #850-001

1" Baseplate Bolt

| ———

1/4" Male VCR Fittings

-4/

—

Male VCR both sides
1/4" SS Tube thru

NW-25 Flange

)

cVac
anufacturing, Inc.

Title: 1" Bolt-male VCR

Alsufaces &7 [oate: e
Break all comers.

[N

Preliminary

2

ev]

Description Jecn | Date

[Tolerance: |§.ee( [owg re

p 010 :
0% £0% |1 of 1 |sso-001
00

Both Sides
Part #850-004

cvac
anufacturing, Inc.

Title: NW-25 Flage

Allsurfaces &4/ [Date:
Break all corners

cale:

[ 5.50
11.00
NW 25 Flange With
1/4" Male VCR Fittings
[ ] Preliminary |
[Rev] Description Jecn | Date

Tolerance: |§|ee( [Pwa:

p 010
X% E0% |1 of 1 |sso-004
00

rr

Male VCR both sides

1/4" SS Tube thru

23/4" Con Flat Flange

"

Male VCR both sides

1/4" SS Tube thru

23/4" Con Flat Flange

/
I3

I Is

| 5.50
11.0
11.00
. V; " . V.
2 3/4" CF Flange with M:icingne. | 23/4" CF Flange with 2 | BeS—
1/4" Male VCR Fittings [ 234" Conflat Flange 1/4" Male VCR Fittings [fier 2 3/4" Confiat Flange
Both Sides Allsurfaces <3/ [pate: |5<a\e Both Sides Allsurfaces &/ Jate: |5<z‘e
Break all corners. Break all corners
Part #850-002 [T ey R e e =—| Part #850-005 [T ey T R e e =
Fer | Descrption Ten | ome 0% £368 |1 of 1 Jsso-002 r Fe Descrption Teon ] oo Lo 2232 |1 of 1 Jgso-o0s r
. . NW-40 Flange
Male VCR both sides Male VCR both sides 9
NW-40 Flange
1/4" SS Tube thru 1/4" SS Tube thru
| 5.50 | 5.25 JE—
[ 11.00 11.0
Ve n : V:
NW 40 Flange With 1/4" M cing. . |23/4" CF Flange with 2 Mg, inc.
Male VCR Fittings both sides e NW-30 Flanae 1/4" Male VCR Fittings [T w40 Fesdthrough
Part #850-003 Allsurfaces &/ Joate |5<a‘e Both Sides Allsurfaces &7 pate: |5<a‘e
Break all corners. Break all corners
- - Part #850-006 — -
[1 T Preliminary | Tolerance:  [oheet  [Dwg: eV [1 T Preliminary Tolerance:  [oheet  [Dwg: eV
Fer [ Descrption Jicn] owe |0 08 |1 of 1 Jsso.003 r_ Fer [ Descrption [ren [ ome g% E68 1 of 1 [aso00

Page 21



Part #

850-007
850-008
850-009

Part#

850-010
850-011
850-012

1" Bolt water cooling

feedthrough with 3/8" Dia.
tubes

Part #850-009

2.00
3/8"Dia. SS Tubes

cVac
anufacturing, Inc.

Title: 1" Bolt, 3/8 water
All surfaces W Date: [Scale:
Break all corners
[T Preliminary Tolerance: _ [oheet  [Dwg: Rev
[Rev ] Description JEcN] Date XX 002 |1 of 1] 850-009
—

1" Bolt with (3) 3/16" O.D.
SS tubes

Swagelok Fittings
Both Ends — 2.0 ——— o 0
()
‘h S
- )
.k_; -
1/4" O.D. SS Tube 20 - o 1/8" SwagelL ok Fitting
8.0
1" Bolt with SwagelLok Vac 1" Bolt With 1/8" SwageLok Vac
Fittings, and 1/4" Dia. SS Ma"”fa““”"g' Ine. Fitting Manufacturing, Inc.
Title: 1" Bolt W/SwageLoks it} Bolt 1/8" SwageLok
Tube W‘um—lr Part #850-010 e G o i
Part #850-007 IR1 I Priimina.ry Tleanes et 0wy v [ Prefminary T T v
ev scription Jecn | Date XXX +005 |1 of 1 850-007 [rev] Description Jecn ] Dpate x&x +005 |1 of 1]850-010
——— 2.0 —i—]
1/4" Dia. Tubes
P \ 'ﬁ
— 7.00 7 (@) \ ] (T
= N \ (@) ) ] i
[
=4 (o) - -
__J ~—~ 14.0
1/8" Cajon Compression Fitting
2.00
1" Bolt with 1/8" Cajon
Com pression Fittlng M:\rﬁf;acturing, Inc. 1" Bolt Feedthl’ough with 1/4" M:\r/:;acturing, Inc.
Part #850-008 Tite: 1" Bolt/ 1/8" Comp tubes Title: 1" Bolt, 3/8 water
Srfaces [Date: [Scare: Srfaces Date: [Scare:
_ L T Part #850-011 _ T
[T Prehmlnéry | Tc\;;ar;cg:‘o Sheet  [Dwa: - Rev [i] Preliminary | Tm\;):ar;cg'u [Sheet  [Dwg ) Rev
[rev] Description Jecn | pate Xxx +005 |1 of 1]850-008 [rev] Description Jecn | Date KK E00s |1 of 1| 850011
——— 74,0
3/16" O.D. SS Tube (3)
2N \
70 1
\ O ) - = ()
— ) 7 o Y 1 T
\ o O ) ———— \_I:|
N J

2.0

14.0

cVac
anufacturing, Inc.

Title: 1" Bolt 3 liquid tubes
W [Date:
Break all corners

Al surfaces [Scate:

Part #850-012 ]

Preliminary | Tolerance: __ [oheet

[rev]

Dwo: Rev
"
Description [ecn | Date B £ [1 of 1]850-012
AU

Page 22




Part #

850-014
850-016
850-017

Part #

850-018
850-019
850-020

SwagelLok Fittings
Both Ends

1/4" 0.D. SS Tube

2" Dia. x .375 Thick Copper

3/16"O.D. SS
'V ) Cooling Tubes
= HE—— A H |
| :l | [:}
L q
/
——— 1 ‘
—~—— 6.0  — |
q
J
| 70 |
4-40 Thru Mounting Holes
1" Bolt With Copper (5)
cvac Cooling Block Mo
1" Bolt Baseplate with (2) 1/4" Swagelok Manufacturing, Inc. ey ; anufacturing, Inc.
Fittings, and 1/4" Dia. SS tubes [Tive: :f Bolt W/Swa: DeLoks — S,DECIﬂ/ L" Dimension Title:1"Bolt Single Feegthrough —
All surfaces Y ate: cale: All surfaces Y ate: cale:
Part #850-014 Break all corners & Part #850-018 Break all comers &
[1 ] Preliminary | Tolerance: ~[Fheet [pwer [Rev [1 ] Preliminary Tolerance: — [Sheet [Dwy, Rev
IRevI Description IE(NI Date B fSJ;? 1 of 11850-014 IRevI Description IECNI Date XY |1 of 1 [850-018
1/4" Swagelok Fittings(4)
2" Dia. x.375 Thick Copper
1/4" SS Tube 3/16"0.D. SS
thru Cooling Tubes
— ,/ | 50 || L
[E':Hj
[
| |
/ |
2 3/4" Con Flat o
Flange [ | .
- 60 ———— 4-40 Thru Mounting Holes
2 3/4" CF Flange (5)
Part #850-016 Mo Cooling Block Mo
" anufacturing, Inc. P . 2 3/4 " C'F anufacturing, Inc.
(22)3{:;4C§ Flanglek Title: 2 3/4" Conflat Flange : SpeCIfy L Dlmenslon F/ange Title: 2 3/4" CF Cooling :
n Wage o All surfaces QY |pater [ocale: Pa rt #850-01 9 “All surfaces &/ Jpate Fcale:
Fittings, Both Sides [ ]__Frefiminary ] e T | Fev [T Freiminary T e T | o
! Ferl Description v oo |8 88 [1 o1 ]ss0016 Fer] Description [ o SE 010 |7 o 1 [850-019 |
2" Dia. x.375 Thick Copper
—=1 71.35 3/16"0.D. 5SS
Cooling Tubes
i U
.620 1
O |
/
[
1/4" Ultra Torr fittings (2) -
2.0 (Bored thru .260 Dia.) 4-40 Thru Mounting Holes
) o NW-40 Flange (5)
1" Bolt with 1/4" Ultra Torr Fittings M Cooling Block M
Compression F|tt|ng anufacturing, Inc. 5 f [ . NW_40 Flange anufacturing, Inc.
. - pecify "L" Dimension
Part #850-017 Tide: 1" Bolt 1/4" UT ‘ Title: NW-40 Cooling :
Il surfaces 4y [Date: fScale: Il surfaces 4/ |Date: cale:
T [™ | Part# 850-020 A
[] Preliminary Tolerance: __ [sheet  [Dwa: [Rev [] Preliminary Tolerance: ~TSheet  [Dwa: [Rev’
[Fer] Description | E X E08 |1 o 1]850-017 | Fer ] Description | e 0% £008 |1 of 1850020

Page 23




	page21.pdf
	page22
	page23

